SENCAT—TIV
Multiple Spindle NC Rotary Table

TABLE TM . TM2100 - TM3100 - TM2160 * TM3160
series TH2100 - TH3100 - TH2160 « TH3160

NC ROTARY

1EDQENMYTHEANT SEEEZS#HMZ21T
Multiple spindle range for multiple work piece machining
Reduces set up time and increases productivity

@R ——AEIDO N\ MR
Mono-block body & compact design
ORI CRYEV IRV VICEHRIE
Ideal for tapping machines with high speed rotation
O EER D RLICE#R
Working time reduced
O HER IV FAEY RILET IV
Multiple spindle for simultaneous work piece machining
*CEXdfiam CE correspondence

AKITAGAWATED'STEST v v 7 EBOETTRE

D=0 R—=IVT 4V TEEDETTHERI TN
Work holding device combining NC Rotary Table and Chuck.



(ditagawa

{IhngH{t4E additional axis specifications M{ES{1#% M signal specifications
%7 —7 U4 X1001&ZEEDIERATRE % T =714 X1001&ZE ED I FEFRRTEE
*Table Size 100 can be used for only pneumatic type. *Table Size 100 can be used for only pneumatic type.
wiE T=IWHA1X THAUES HiE T—IWHA4X THIUES
Type Table Size Design No. Type Table Size Design No.
™ BF 100-160 E—41E8E ™ : BBF 100160 Quinteftik
Right-handed Motor type Right-handed Quinte specification
type F—=7 IV 495> 77 Clamping method ~ tYPe F—=7IVEK 425> 773 Clamping method
TH:ZBSF  Numberoftables A : ZZFE Pneumatic TH: EBF Number of A : Z2[E Pneumatic
Lefthand 3.3 B : ZHE MMRI 7\ FO7—24%) Lefthandtype tables2-3 B : Z=iE (MBI 7/ \A RO7—R%)
type Air-Hydraulic (External air hydraulic booster) Air-Hydraulic (External air hydraulic booster)
H : J&1/E Hydraulic H : &iE Hydraulic
M {1#% Specifications
B X Model TM2100 TM3100 TM2160 TM3160
AMF Right-handed type O O O O
EBF Left-handed type O O O O
F—7IVEE Table dia (mm) ¢105 6105 165 ©165
T—7IVEHETUR Centre hole dia (mm) ®50H7 ®50H7 »50H7 »50H7
7 —27)VEi@74ZE Through hole dia (mm) 32 032 ?40 040
> %/\1 | Centre height (mm) 10 10 140 140
=- : =E = ZEIE/ZE I SRE | 2R/ ZEHIESBE
252775 Clamping method Pneumatic Pneumatic Pneumatic/Air-Hydraulic/Hydraulic | Pneumatic/Air-Hydraulic/Hydraulic
ZE[E{£4%0.5MPaks
#5527 kL4 | Pneumatic 0.5MPa n ns 176 176
Clamping torque(Nm) | 223 EE 20 45MPa/HEEALHE 3.5MPaBs _ _ 400 400
air-Hydraulic 0.45MPa Hydraulic 3.5MPa
E—REBE A F—+ Motor axis reduced inertia (kg-m2) 0.000353 0.000475 0.000145 0.000188
#—HRE—% (FANUCILARDIZR) Servomotor (for FANUC specification) aiF 4/5000-B aiF 4/5000-B aiF 4/5000-B aiF 4/5000-B
L (ESERiEL) Total reduction ratio(Decel. Ratio in Msignal) 1/36 1/36 (1/60) 7 Note? 1/90 1/90 (1/120)
FANUC{LHR 83.3 69.4 333 333
F—7)esmEEE | FANUC specification(min-1) (at motor 3000min-) | (at motor 2500min-1) | (at motor 3000min-1) | (at motor 3000min-1)
Max. rotation speed | M{S S {+45 83.3 50 333 16.6
M signal specification(min-) (at motor 3000min-) | (at motor 3000min-1) | (at motor 3000min-1) | (at motor 2000min-1)
AT —Y4F—<+ Allowable work inertia (kg-m2) 0.054 0.054 0.51 0.51
ZI|H¥5RE Indexing accuracy (sec) 60 60 30 30
FHIRFEE Repeatability (sec) 5 5 4 4
S FE & Mass of product (kg) 85 100 100 150
FHT VALY Y GFTvay - P1128R)
Manual tall Stock(as an option-P112 reference) TSZ100RN TS3100RN T52160RN T53160RN
H#EE (kg)
SFARHE=E Horizontal installation 60 60 160 160
Allowable mass of
workpiece IEE (kg)
Vertical installation 30 30 80 80
F ) > 6 6 10 10
E‘fﬁﬁi_ FXL (N-m)
(=552 TR) ALK 200 200 600 600
Allowable load
(When clamped to table) 7o )
PLNm) - £ Bncumatiey, | Peumatic
17 17 400 (ZEHIE - SIEHHH) | 400 (ZEHIE - SHEEAHRD)
(Air-Hydraulic) (Air-Hydraulic)
SEAIEIL Y T (N-m) A\
BTE :
Allowable cutting torque @ 180 180 300 300

) LEIRESERAA Y FIENCT—7ILDTC- DM - LRERS £V U —RICRBLTWE Y, 2ZBEZHEY S THRDBEaE. 7 IV SV TRY L/A RNV IERELTOE T,
3INCT—TIWE TR E DRID T — 7 IVRUR—RAIMIBLTEVE A 4THET TV THRIE VL/A RNV T ERBLTOE A 0T BERICTTEFBE TSI, 585%
BEIFEAMESHRROERTY, 60—2UY31 Y MN 7—IVAEY RIVEBERTHEKTEW,  7(IhiE 7 5 Y — 0B E. BiaEth1/601cxE 7,

Note) 1. The switch for pressure checking is incorporated to all series except TC/DM/LR of NC tables. 2. In case of air/air-hydraulic clamp specifications, the solenoid valve(s) for q

table clamp is (are) incorporated. 3. Neither cable nor hose is fitted between NC rotary table and machine tool. 4. Solenoid valve is not incorporated in case of hydraulic clamp
method. Consequently, customer shall prepare it. 5. Each product mass is determined by a Kitagawa M signal spec. 6. Contact to Kitagawa about rotary joint and tail spindle. g
7In case of additional axis specification of Brother, the gear ratio will be 1/60.

46)



TM series

W~F%E [{3hn#h1t4#%] Dimensions [additional axis specifications)

TM2100 - TM3100 - TM2160 - TM3160
TH2100 - TH3100 - TH2160 - TH3160

TM2100 (TH)
497 260 NERIVE
Hex bolt
140.5 356.5 151 109
F—IIVLE St.17 M16X65
. T ) Table surface ) w0
2X3-M8 | a0° 1309 2X3-M8 ||| . 1! r dmﬂ 8 M
Lzinnt < g NN
g S |  — -
ol 2 & gl 1] 150 o ﬁﬂ
S = T L b 24 48 | —I | 45
o S | T
c o L 14.6] |25 |13
i 5 ol
et 149 B
ol 18|h7 2 Rei/g I 10 10 & L'OQ @
74.5| 120 |74.5 e BRERER 70 | 70 F—TIEER 55y FRE
6 269 500 Preumatic portfor camp Through Hole Diameter Clamping Parts
(on back side
Rc1/8 75> TRz EMHEN
TM2160 (TH) Pneumatic port for clamp
Rcl/4 TS5 014E 0 5 TRMELHEO
Hydraulic port for clamp with plug
625.5 (EEICHIET) NERIVE
(on back side) Hex bolt
207 418.5 286
2X3-M10 151 135
2' F—7)VEE
~ [ Table surface 6-M6 12
o T/ ST o
- g ) \ — - -
3+ 2 et e i o i \ g
e y
Y 2 & 1] 150 = 75:)’
3 - g Sl | [32 20| © 21
° © — - —N & A N ©
‘mT 18h7 ® IS HEES 149 F—JITiH S0 &
1005/ 200 1005 70170 I Table T-slot Grooves _ )
™ 101 o1 ‘ T IVEER 5788
6.5 0 8 Through Hole Diameter Clamping Parts
TM3100 (TH)
617 267 RARIVE
Hex bolt
200.5 416.5
156 i F—7)VEE M16X65
,,,,,,,,,, Table surface St17
IXBMB | oy gpo |3XEME [T ) 2
9 LB = 8
; 3 ‘ s HI R
g% (S )< i / S| [ I
o7 8 g 6L 150 2 -
o S| L < 24 48|+
- c =t 9 i 14.6 | 25/ |13
Lfﬂmm 2 | ecrss al 10 10 & 149 o
74.5|_ 120 120 |74.5 9707 REERED 70 L‘_“ &
BEIBVET) F—2IVBER 950 TRE
6 389 222 Peumatic OfffOVdamP Through Hole Diameter Clamping Parts
(on back side) —_—
Rc1/8 ¥ 5> 7RZEMGO
TM3160 (TH) R/ 75 5135 5 5 T AR
(E@EICHIVET)
Pneumatic port for clam RN
833.5 HydLrJaullcI pgrt for clamp%\nth plug NARIVH
307 526.5 (onbackside)  2gp Hex bolt
M16X65
15¢ -
5 3X3-M10 151 |, 135 S L St.17
2 Table surface 6-M6
b ) :
- o ol ) Lo || e ) [
8| e e = | # ,L -
i : g g 9 =190 z s2 20 | £ 8
oy ° | | A
] — — 5 | ———=") 0 149 < o
‘ 0] 418h7 ‘ @ by L 8 & L—‘ < M
1005 200 200 _|1005 70|70 7= IVEEN T—7IVTE 30
\ 1 Through Hole D|ameter Tablé T-siot Grooves
6.5 601 226 75775&5
Clamping Parts
¥ EEENETTAIZFANUCIEER T, It E— 2R DIHE TENRESH T EHBY T, TMIZEREFRR. THIZABFLR T,
*%The above dimensions are the same as FANUC specifications.Those dimensions may vary from motor to motor that is mounted.
TMis a right hand spec. and TH is a left hand spec.




]
FE— S DRI VDA ED BAMABUE T, Lbltag awa

*The dimensions may vary from motor to motor that is mounted.

W~FZE [M{E5{14#%] Dimensions [M signal specifications])

TM2100 (TH)
479 e
150 140.5 338.5 7L el
140 10 2x3-M8 2X3-M8 Table surface 5t17 M16X65
~ ©
5| —1 s 8 m
] 0 ~ ST \
o o 3 e g | i
Q I 2 g 4 14.5i ::‘_F
- o 0 24| 48 | ~1 | 45
i - 149 :
= S =
= T—7IVEBIN :
Through Hole Diameter L‘@“ &
Rc1/8 ©5 > TRz EMIEO IS5 TERE
6 269 204 (EEICHYET) Clamping Parts
Pneumatic port for clamp
(on back side)
TM2160 (TH)
Rc1/8 75> 7RAZE#HEA
Pneumatic port for clamp .
632.5 R4 TS 914E 5 FRmERAN BRIV R
151 207 4255 Hydraulic port for clamp with plug Hex bolt
2%3-M10 (EEICHIVET) St17 M16X65
e (on back side) — o
: o T2V L& 12 gi g
: | ; ~ Table surface 6-M6 EaR @
[—— w TR
lo (3} ¢ e ~
g - o &—‘ 47 = ﬁ %\
+=C-a ~| + q 7«.77* Iret %
150 |1 | 1 & :F & e % 21| @ 24‘ 48 45
¥ : 5 Le,z 20 | 3 ‘
. e — 2T I o &
- 149 A |
by Q,L & o 18h7 Q Table T-slot Grooves o
\ 30 ®
70/ 70 1005 200 [1005 F—JIVEBR ~
6.5 401 205 Through Hole Diameter H5vT7RE
- Clamping Parts
TM3100 (TH)
F—7IVEE
Table surface AR
; Hex bol
19 [ & St.17 NT:GS:JBS
t.
140 |10 3X3-M8 % EZ'Z 0
T — o
% : A
= - I
] 146, Somm
e 140 o4 a8 | 7 | 45
- 149 =
s 4 g
rou ole Diameter 5
| 74.5| 120 | 120 |745 - @’l &
Rc1/8 V5> 7 RZEHHEN =~
70 ‘ 70 6 389 208 (EFECHDED) C|77/7°%§§t
Pneumatic port for clamp Llamping Farts
(on back side)
TM3160 (TH) Rc1/8 5> TRZEREMEO

Pneumatic port for clamp
Rc1/4 7S5 01E& 750 7TRMmERGO
Hydraulic port for clamp with plug

832.5 p— ARV
(EEICHIET) N
151 307 525.5 (on back side) Hex bolt
157 |3X3-M10_ \ StA7 M16X65
F—7IVEmE 7o)
© Table surface  6-M6 o
5 % | = ' 12 gidf — O
I | g = x £ \ i &—‘r E’L a
oo 8 o T RO L) £ Y ——1 ik ﬁt 5
1 1% « re° LK ore® I ¥ esre®, & = o4 48 | 2 |45
XpL Y T | l220]| 28] [ %F ‘
e 5 i b T— : — 37 g .
& [l | & I = I U R E N R S P @ &
8 0 ,,L 18h7 N —  — mwgw, TableT-slot Grooves
70|70 1005|200 200 1005 hroneh LELER ’@L
‘ = {1 Through Hole Diameter 55vTEE
6.5 601 225 Clamping Parts

HTMISEREFER. THIZEBSFAER T,
%TMis a right hand spec. and TH is a left hand spec.






